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10245 FEHE M H I=U/R; P=UI=U2/R=I12R; Q=W=UIt=U2t/R=I12Rt

11.8)ft: Ek=mv2/2  {Ek:EIfEJ), m: Pk E(kg), VAR E (m/s))
12. 8 J13468: EP=mgh {EP :HJ#REJ), g:E/IINEE, h:BH & E(m) (R EHA R
i)}

13. 5/ EA=qeA  {EATTEMAE A B EHGEV), EE(C), eAA BIEH(V)(1E
TR ) }

14. 856 € B CEM AT D) AR I B e 1 R ) -

W & =mvt2/2-mvo2/2 5t W & =AEK

(W &4 TE iR 485, AEK:BTREAE L AEK=(mvt2/2-mvo2/2)}

15 HURALSF I A : AE=0 5 EK1+EP1=EK2+EP2 1 LL& mv12/2+mgh1 =mv22/2+
mgh2

16. 5 0y 5 5 3 Re AR A (B D & T = 34 e B SUE ) WG =-AEP

I\ S TEIFS. REESTIEE

1] AR i 27 5 % NA=6.02x1023/mol; 4T BEAE =Y 10-10 K

2. A>T HAS d= Vs



{(V:E.50 T AT (m3), S:ah R R (m)2 )

3 FENEIR N MR RE S TR KRES TN K HBh: 77 A B
FAYER 77
4.5 TR S RUF F3(1)r<r0, f3I<f 5%, F o1 kB AF )

(2)r=r0, f5|=f)%, F4r77)1=0, E & THAHE=Emin(ix/Mi)

()r>r0, f3I>fJ%, F o7 iikIRAs 7

(A)r>10r0, 3 =fF=0, F /) T/1=0, E 4 FHHE=0

5. H —EH W+Q=AU { (M flis, Smmyikmaen i, 8RR
SR,

WA FUE R TE T (J), QR E (), AUSERINNAEJ), T EIH—KE)
FUAFE H (FLEE ZF P40) )

6.7 e

SLIRRIR : A EH A E IR AL i B SR i, A SRR (e SR 71
%)

B IRk AN 30 B — PRI A R T4 & A R SR AT, TR AS 91 R A AR CHLIkBE S5
WREEAL I T ) (R BN KBTI (L3 ) P44) )

TRV = IR FEATEIE {FHIRE TR —27315 fIKE (8%

B )

bEc

(AT BRRL T AN 401, A BRSO R /N, A BH I Sk B S5, el P vy ek ) 274
(

2)iR R T e RE AR

)7 TRV 51 Sy Rl s 3 [R) A AFAE, I8 537 ) 2 2 A 886 R8N AHRs T M EL 51 R
(4)7r T JIMBOEY), 4y TR INLE 10 AL F 51 =F J§ Hor T3 ae i)

(B) UK, A S SRS T W<0; T, WEERE K AU>0; WG, Q>0
(B)VIA T N Be R Fa VA T A 1) 73 T BN REAN 70 T H Re AR, 3T BAR A 7 T IR 0 %
F, BTHEH/E;

(7)r0 2470 T ALAE-VHRIRAS Ky, 707 IR R

(8)HALA RN E: AR LA E R ER (R M P41) /BRIRIIB K HigH . FRESRYT (A
M PAT) MMRRINRE. T RIEDRE. > TR EE (R T P4T) .

Jus AR BT

1 REPRE S &

M WL, YRR IRFERE: O b, PR B 20 7 SR Sz 8 1) AR AR
POVREESTRIVEEXR: T=t+273 {THN2EEK), tHKEE(C))

RV AR T Pree SRR R, BAZ#EL: 1m3=103L=106mL

JEoE p: BACEAR b, KBS I B A B - A g, SISy, TR RUE
1atm=1.013x105Pa=76cmHg(1Pa=1N/m2)

2.5 TIZEIRREL: ISR B T RERE BRI AL, BV 058; T i
=¥ PN



SHBAUAIPIRESITHE: p1VI/T1=p2V2/T2

PL_E A DONAR ST KR T8, AT BRI — A A
BT EREE RS, I
https://d. book118. com/816052102153011012
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